1. N2ELZF 1 - 28508 300m

Hsofk H28. 1. 11 (300D 3413 B X (F&EIV

| B K = YARalAN PR |Z2FE| 5 4 A |HEIERI|HSIER
8 | 2F INE5 DE | TR 1 44 "24| 4 4
m|NE LopnH Tz |RE 2 39 "e2| 2 2
1| BN EF L5 FC R 2 44 "02| 3 3
% |F0B 8BE N FH =F 1 56 "87| 5 S
5 IR =R SHLE HOE|BEAKA| 2 38 99| 1 1
i . P
"/__F" ”"
SPi) ‘ "
ey LIV
[ERiv] K Z B P 5 4 A R
11 IR =R RIEIZN 2 38 "99
2 fa NE 18 g=] 2 ‘39 "e2
3 iz N B7F AR 2 44 702
4 Py EBHE 3= 1 44 "24
5 iz | BE =P 1 ‘56 87




2. WNREBF 1 -28%£08 300m

moogx H19. 1. 3 (218D 36M39 WA KL (SE8IV

wle| & 8 507 | PR |FE| S o A [#IE0|#SEl
B |88 A% Lol wzcl|m | 1] 103 “61| 3 | 3
# e BB |Ccuss ol | 1] 1 "00 “s0| 2 | 2
1 [ BR BA |9TFE BHE|FR | 2 53 "99| 1 | 1
8 |BB FE N e swesosslrl | 1| 1 727 “32| 4 | 4
[ >
"/__F" ”
=Py ‘ !
HEIEt
E | K& 8 N 5 1 A B
161 | 8K BA & 2 53 "99
21 | BN B 150 1 1 /00 "50
3f1 | BB KA 150 1 103 "61
4f1 | BB RRIR/NT| RN 1 127 732




3. WgELZF 3 -4FE£D8 300m

=oogx H30. 1. 8 (832E) 32M05 BfE X (FRIV

wle] & = S0ONE | BB |2E| 5 « L |IEN] 4SBT
8|8 FE DAL BbaE (=P 4 37 "5B2 1 1
F = IRR BE |COKE zxH [BE%| 3 40 "57| 4 | 4

|l 2|BR me dASh LIE|EE | 3 51 20| 6 | 6
R BHa oD |BE | 4 38 “29| 2 | 2
= [ERA mE  |aa= mo=lme | 3 40 "83| 5 | 5

g e am CLB5 T05 1| | 4 “40 02| 3 3
"/__F" "
=Py ’ "

IR

E ] £ 00 2 wOB | 2 5 « I BE

1f1 | F@ FE =B 4 37 "52

o | BB BE e 4 38 " 29

3 | FN EE 15 4 40 "02

a1 o B8E| rEm 3 40 57

511 | ERA B 8558 3 "40 "83

61 | BR =i ES 3 51”20




4, N2ESEF 3 -4F%E08 300m

=oogx H30. 1. 8 (832E) 3240 =M@ EH CIfIYD

wle] & = SONE | B |2E| 5 1 Lo |4EIEN|GaIE
g [k mR IFE 0P |BrE| 4 46 "62| 4 | 6
7 |)\EE PINE U B | 4 86 97| 5 | 10

| = mx B anee Tov|EE | 3 44 "53| 3 5
% | =% BEBB e | FE | 3 40 "72| 2 4
5 8% 188 FAlh U3HE R 4 11 16 "86| 6 11

il I T b N |=F | 4 39 “88| 1 3
= ;
. —
B[ ot |osas couss|miE | 4 "39 “69| 2 2
A D5 05E0 | FE | 3 48 "64| 3 7

> |2 |En szn Jeves vesou [RE | 3 50 “25| 4 | 8
& e @ FORE WS |BE | 4 39 “06| 1 1
= [ux ® S=EE H03|[RE | 4 56 “60| 5 9

= —
. —

WO AR

E | K2 wOB | 2 5 « I BE

16| M B ES 4 39 06

2t | A8 e Py 4 39 69

31 | A0\ ek =5 4 39 “88

41 | 1k B TE 3 40 "72

51 | A BE £ 3 44 "53

611 | #HAK BR By & 4 46 62




5. N2EBF, &F 5 -6F£08 1,500m
XBF - LFRSBE

BF: Kasclg H27. 1. 4 (290D 20525M39 BABE (J\PIY
LF I RBEHE H27. 1. 4 (85290) 2325MWO08 RE W& (PEMIN

wle| = g ons | R |2E] 8 4 4 |siEnssiEs
B [&n 22 2<p> BAE|FE | 5| 3 08 “15| 3 3
7 =@ 1tE sWE> Fa=|gE | 6 | 2 48 28| 2 2

i [2lze =% 377 cen | | 6] 3 30 “41| 6 6
@ [NE mA HonH WIE|ES | 6 | 2 41 “32| 1 1
= @iz T cLon 503 |RE | 5| 3 18 “93| 4 4

& [ms ws ahes sonl|l=p | 5| 3 20 “60| 5 5
T |k SLED EZHL [P | 6 ‘ "
- T

BFHBIER

E 1] E Z mOB | e 5 « A &=

1 [ME A E= 6 o> 41 "32

ot |mE 1tE E= 6 o 48 "28

3 fi1 K

4 i1 2

5 fi1 2

6 fi1 2

GRS IER

E 1] E Z OB | e 5 4 A BE

R & 5 308 "15

o6 |fiE T rE 5 3 18 "93

3t [RA mE =5 5 3 20 “60

41 |EB BE P 6 3 30 “41

5 fi1 z

6 fi1 z




6. ZFOE (PFREMUL)

3,000m

REE H28. 1. 11 (B30@) 4952051 B ED (\FPHES)
mle| 8 8 SONE | BB |%E| 9 A L |#EIER| Rk
5 |rm 52 B =P | 2 | 6 23 "97| 5
7T BR LEBS DO |Bmh| 3 | 5 17 81| 3 |1 =
1| 2 |me B2 nLs> EEH R\ | 1 | 5 17 27| 1 |1 =
@®[ERA &0 |aax & |mip| 1| 6 05 "29| 4
B RS R =ho &7 |[WE-w| 2 | 517 45| 2 |1 =
[ = —
&7 Z
RO IENT
E R KB OB | 28 5 1 I RV EE
1 | RRE B HRIBiD 1 5 17 "27| ®
21 | RET MK J\P—t 2 5 17 "45| 7=
i1 | TR BWR R 3 517 "81| &=
441 | ERA &0 )1/ 1 6 05 29
5f1 | rm@ 2 =P 2 6 23 "97




7. BFOE (PFEMUL) 5,000m

2583 H20. 1. 2 (B22@) 7TH19W17 HMEE (\FEs)

FE N INES 55 = SV HVR PhiE HRIBRT| R b~
8|3l —#& ELNDD HFE |/ \FoE 6 | 1
w|NER B RHEns &0 | BGE 8
£ |RM X0 RU&EDS HFO|[/\Faa 5

T & |wm 5= RU&> FIEH |/\Foms 3 |2 =
5 [ARAN Bl TEE LS |Bus 7

w| B WA KFE VFEEE VAN |1 Fika 1 |17 =
(TP BE ZIEh WO5F |)\Fhs 2 |1
8 |BR BE FLEE KLOC |/\Fois 4 1
BR(AN B L5 [FDE | FED 9

fwalafiz

g {1 K 2 i == = ke 5 a4 A Rkl 8BS

1 iz WA AE J\PhiH= - 7 40 "39| 5T

2 fi Rt & J\PhiH= 7 48 24| 5

3 fi mp B85 J\FPtEs 2

4 i1 B BE J\FPtES 1

5 {1 RE  ROSK J\FPtis 3

6 fiI B — J\FPtEs 3




8. INPEEF. &F 1 - 2FE0H
XBF - ZFAREE

S500m

BF A=Ecsx H19. 1.
LF  A=Ecix H28. 1.

3 &E21@) 12
11 (300D

1HO6 WA XKL (G881
57W35 6 XA (FEIJV

fl | B K 2 RYAYa)AN g |ZFE| 5 4 A |HEIERI|HEIER
B |[#K BA ggFE IRE |FER 2 1736 "08| 5 5
IR =R U HOE|BEA| 2 1704 "65| 1 1
1 | B PN Bfé BNB5 DE | PR 1 1 717 "70| 2 2
i |08 8% N FITH =F 1 1731 "89] 4 4
5|WE #® LonH CFz|RE 2 1720 "96| 3 3
| = 2
= ”
Sy "
BF SR
& fiz K = B PHF 5 14 A =
1z |[#K BA = 2 1 "36 "08
2 fu ‘ !
3 fiz !
4 !
5 I !
6 fiI !
LFinaIRhI
g {2 K = B FHF 5 A R
112 |kt =S BEAR 2 1 704 765
2 1 (PN EfE R 1 1717 "70
3 |WE 8 RE 2 1 720 "96
4 1 |78 B&E =P 1 1 731 789
5 I !
6 i !




O. WFELZF 3 - 4F5£0DE

S500m

REEE HI30. 1. 8 (FE32E) 50W04 B I (FEN)

el 8 2 SNz | BB |2E|] 8 4 4 |MEd|ssEs
e cHPN BRTE | 3| 1 07 ‘90| 8 | 8
=R BE |Co<iE z» |wes| 3| 1 06 ‘67| 7 | 7

|l 2lEr = mH OH |BE | 4| 1 04 “84| 4 | 4
f® | LB FE SRE BaEE [=F 4 59 04| 2 2
= [ErA mE  |ea= mo=lme | 3| 1 05 “83] 5 | 5

L P P =55 WF |8a | 4 56 38| 1 1
& WR BF CWIFH DT [MIm 4 1 703 "57| 3 3
57| FaN B CLB5 do>5|em | 4 | 1 06 “10| 6 | 6

G IBRT

E ] £ 22 =T = 5 « I BE

161 | AR B 8938 4 56 ”38

o1 | @A FE =5 4 59 "04

3R | IR BT TR 4 1 03 "57

4t | BB @BE 2 4 1 04 "84

5 | ERA B BE5A 3 1 05 "83

6 | mN BE RIS 4 106 10




10. ZW2EBF 345508 500m

A= H15. 1. 11 (8B170@) 49M07 #FEE 8K CRARIY

itz == K & SO HR i@ | 25 5 a4 A HRNBLI | $ESIB(I
5 [mx & apse tov|sE | 3 |1 13 “28| 4 7
n V¥ 888 FAlLhA U3HE R 4 |2 "0O6 "64| © 12

;|2 |ee == BEBS DWE|RE | 3 |1 05 “36] A 4
% 86K mR IF= 0p |BrE| 4 |1 05 “87| 2 5
= |lux = s=EE OB\ | 4 |1 41 "51| 5 | 11

g [y e |osas coussle | 4 |1 o7 “eo| 3 6
"/__F" "
- T
5 h\ss - VN= Ch | | 4 |1 32 “44] 6 | 10
7 508 ek e N |=F | 4 |1 ‘o1 48] 2 2

NEICER: FHEE WS |EE | 4 |1 05 08| 3 3
% | BiE HEDBD WIBN | FE 31 "20 "28| 4 8
s | gz CLBs Vo303 | R 31 27 "63| 5 9

B[ (g 2z SEE B0 |DEM | 4 59 “07| 1 1
pe —

WESIBHT

E ] & & OB | e 5 4 A Bz

161 | g Pk 4 59 07

o1 | F0@ iEE =5 4 1 01 "45

3f | ME B £ 4 1 05 06

401 | B BE & 3 1 05 “36

511 | %A IR By B 4 1 05 "87

61 | NI HtEs B 4 1 07 "60




11, VRELZF 5-6FEDE8 500m

A&zl H30. 1. 8 (8320@) 4725 R BX CIFMAND

il | & K = YY) PilE |ZE| 5 1 AL |fEIBRI| RSB
B |/RE B8F HoXd [FBDC |'IFE 6 |1 01 "32| 4 7
o | B BB NLBD SHZ | FE 5 51 "T75] A 2
1 | B|RE % RU&DS aEH |XIE 6 |1 “01 40| 5 8
% |728 FHiE g Z&en |I\P 6 57 21| 2 5
5 |fE Tk CLDh BU3|FE 5 58 "41| 3 6
8 [ . ”
- ”
Shiy . ”
B [kEX 8 SNEE VR |=R 511 “02 "11| 4 9
Sl EBX KUZ HH |FE 5 56 21| 3 4
o | & |EBN EATF €50 &HC ['IF 6 “B80 "99| A1 1
fix R BHR Z<BS DAB|TE 5 "85 "T1| 2 3
B|hR = CWFH HRL [T 6 |1 29 "16| 5 10
8 [ . ”
= ”
SPi) . ”
i) Y1V
& {2 K Z P B PF 5 4 A R
141 | BN EF0F N © 50 "99
2 fu G AR 3= S 51 775
3 I Rl BR =S S 55 71
4 {1 oH E= =S S 56 21
5 I Al FHie J\P © 57 721
6 fuI ) A =S S 58 41




12, ZW2EBF 5-6F5£08 500m

meogx H17. 1. 15 (198D 44024 ki K (KRARIY

el & = S0ONE | BB |2E| 5 « L |#EIEN| 4SBT
B [E mA BENH WSk |EE | 6 51 " 04| 1 1
7| =B et cHpn TO|IE | 5 52 95| 2 6

REIEEEE BN FLE |EE | 6 58 " 57| 3 7
Z N0 ¥ nh<h mEE|EE | 6 | 1005 48] 6 | 10
= B2 Bz L50T =<a#|/\Fm | 5| 1 02 “92| 5 9

g lex as sLsb eollhes| 6 | 1 05 93] 7 | 14
= (B B FoRN BRE|\E | 6| 1 02 “54] 4 8
- T
5 =% 1m She> Fa=|EE | 6 51 " 56| 1 2
A <E 0> |B@EA| 6 51 81| 2 3

o2 [Bm mam  |moel csess|)\E [ 5| 1 08 736 6 | 13
% |k =% FOEH FVTF | AL 5 1 "13 "e66| 7 14
= (@i Eon |cues Laoso Rl | 6 52 04| 4 5

e le we g0 #3DOV3|EE | 5| 1 08 18] 5 | 12
= iz 7= S BN |DEM | 6 51 89| 3 4
- T

O

E ] £ 0 2 OB | 2 5 4 A Bz

161 | NE X £ 6 51 "04

o | mE & ES 6 51 "56

3| R I BEA 6 51 "84

4 {1 otz i PEM 6 51 789

51 | Frt E2N RIS 6 52 "04

6 | =M@ J@th ST/ 5 52 "95




13. ZFOE (PREML)

A&sogx H29. 1.

S00m

9 (831D 44MO7 ML ONLD (J\FPES)

wle| = g B0nE | iR [2E| 9 1 Ao |4AER|HRSIER:
B (Bs WE EOUE BAE w1 49 "13| 3 6

T (s = H5aE HE |E@aP | 2 a8 " 23| 1 3
= (B =D EOORE 20 [RiED | 1 ‘48 06| 2 5

IS n5ax HE0 |Eah| 3 “49 22| 4 7
s |8 3O 7T U3 |=Fa| 3 55 “14| 5 9

o | & Bl B¥F EO0E BUC |/\FEE| 1 "46 " 00| 1 1
% | rm oz 5z gL\ |=Pg| 2 51 "25| 4 8
BR[RE I Sho D |1E—w| 2 48 24| 3 4

W osmm Bx RUs> =&H 1R | “46 7 43| 2 2

MBIBhT

iE 1| K Z = BaeE 5 A4 A B

16 | Bl BF JN=Tiiif ) 1 46 00

o | IR BE Rt 1 46 " 43

3 i Mg & a9 2 48 " 23

401 | REBOIME J\P—tb 2 48 24

5 i1 S =73 Rk P 1 48 796

61 | BE MWE H)llcp 1 49 "13




14, BF08 (PFREML)

A&zl H22, 1.

500m

O (6824EB) 39M36 BIE £F J\FPLIS)

fe | & K & YAYaVAN g |25 > 2 (A FRIENR [ SIEfT
B (8% & Z25F AN |/\PEP| 3 43 "59| 2 5
Tiwm|Pe s EET Loath |EED | 1 47 "41| 5 | 14
£ (AT T =5 [FBDE |FEP| 3 44 "58| 3 6
@ | 8 |mE BhEh Uk |)\FEE| 3 39 "67| 1 | 1
5 | AN BRI =5 O<E |BFBR | 2 47 27| 4 13
s |I\ER e BHEHS5 HDOU [/\PkEs| 1 46 " Q7 2 9
2 % ww s nUbxz 05= B | 1 46 "35| 4 | 11
BiR(UA  KE DFEE VAW [\Fogs| - 40 18| 1 2
@ B|Em B |&KLE FEo |[FED| 3 46 "55| 5 | 12
7 (BRI FhED B3=|EED | A ‘46 14| 3 10
£ [’RW =5/ EhSvE FiEL |[)\Fls| 3 40 7 41 1 3
5 | & e Bx wagrz HuE [=pe | 2 45 "56| 3 7
5 (BEER B BENR WO |[RBEd | 1 48 "08| 5 15
& B IR HErE <Bh |\moze| 1 45 "T75| 4 8
Bl xlon weE NEB5 Dp5UA|N\FEE | 1 40 "53| 2 | 4
B 2
AL
& {iz K e PR B SHeE oA (VAN =
1 1z miR = J\Pfigs 3 39 "67
2 i WA XE J\PhtHs - 40 18
3 fiI ®RW =5 J\Pfigs 3 "40 " 41
4 i1 SN RES J\PES 1 40 " 53
5 {1 MBE R J\FPE&EH 3 43 "59
6 i AN B R 3 44 58




15, NFESBF. &F 1 - 25508

BF K=k H28.
LF  R=5eix H28.

XBF - XFAIEEE

.11 (&E308) 17MH60
.11 .(&E300a) 14M17

100m

=M 1#Eh CIFIY
&fE B (RRIV

M8 K & SYYaA iR |ZE| Y o L |HEIBRI|HEIER
8 |8k EX <3SN DA LA 1 26 21| 7 ’
|88 KT LSNL X0 1R 1 19 “14| 3 3

1| BB BB ICLBS IO (AR 1 23 "20| 6 6
1% |Bim MR/ (I FleS07 | iR 1 28 "71| 8 8
5 |INLE 1 LoNH TR |RE 2 15 "65| 1 1

Wlglww 57 [zeos sc|mm | 2 21 ’86| 5 | 5
®R|IZT/RR KRB [ICOK<E & |15@RE | 1 17 "89] 2 2
B8 FE Nz FZK =F 1 19 25| 4 4

BFHEIBNI

B fi1| K = B P 5 4 A (G

11 |86 AX AR 1 19 "14

2 |[Ff EE AR 1 '23 "20

3 Bk EX I 1 " 26 " 21

4 11 |Bim MR AR 1 $28 "1

L F RSB

B fii| K = B P 5 A4 A (]

1 |[WE 715 ] 2 "15 "65

21 |[Z/RR KR TEIRE 1 17 89

3 |8 B=E =F 1 19 "25

4 f1 | EF AR 2 ‘21 "86




16. WFELZF 3-45%E08 1,000m

=ecgx H30. 1. 8 (328D 10347#H87 GE X (FRIV

wle] & = S0ONE | BB |2E| 5 « L |IEN] 4SBT
5 [~ BE =55 0% (888 | 4 | 1 59 “93] 1 ]
7 |BR = grxh LIE|EE | 3| 2 35 “50| 8 8

(2 lErE e s sozlms [ 3] 2 19 7as| 4 4
7 |he BT CWFH DT T | 4 | 2 15 32| 3 3
= 2w s mh ow |28 | 4 | 2 19 “83| 5 5

Wlalz e 82 co<z zo |wes| 3 | 2 27 “14| 6 6
=@ Fm 5212 BaE|=F | 4 | 2 09 “a4l| 2 2
B | =0 cHBD BR|TE | 3| 2 27 ‘95| 7 7

IR

E ] £ 00 2 wOB | 2 5 « I BE

161 | AR BE B85 4 1 59 “93

o1 | M@ FE =B 4 2 09 "44

3| IR BT TR 4 > 15 "32

41 | ERA B 8558 3 2 19 48

5 | BB 5 e 4 2 19 83

6l |[— Rz BE| RED 3 > 27 "14




17. WFESEF 3-48%E08 1,000m

BF Az H15. 1. 11 (E170) 10542M26 £ 5K CRKARI)

dle] £ =& 3o | mE [2E] 5 1 o [6EC[asEs
glom 2t o ne  [=F [ 4| 2 11 7a2[ 2 | 2
| tes  [pses couss[e [ 4| 2 56 ‘43| 6 | 6

(|l 2lmx B8 [ense covlss [ 3] 2 89 's2[ 5 | s
&lws 2x |swE evo|esm| 4 | 2 05 ‘s8] 1 | ¢
Blen w5 |peos sue[rE [3] 2 11 ’s9] 3 | 3

“lelpx me |9z on [mra| 4] 2 23 22| 4| 4
e K

BN

E m] & & EEE 5 1 A wE

I B 4 2 05 '88

2 | 0B % =5 4 2 11 "42

3| ®N B5 & 3 2 11’59

410 | Al 187 4 2 23 "22

51 | A B =5 3 2 "39 "52

6 | NI Dt T 4 2 56 "43




18. NFELZF 5 - 6FEDED

A=soix H3O.

1.

1,000m

8 (832@) 11336MO05 R ER CIfIYD

e & 2= SONE | B |2E| 5 1 o |sEEN|saE
o |6m WUBD S#E|FE | 5| 1 42 “11] 2 | 2
7 [Rm = nte> sexIm | 6 | 2 12 “31| 7 | 7

| = Em Bw g cen B | 6| 2 o2 97| 5 | s
& |27 wR0F |80 apc |T@m | 6 | 1 42 “ 00| 1 1
= [z == sUE &> |72 | 5| 1 59 “76| 3 | 3

e lers wa nEe =pR|=F | 5| 2 01 “39| 4 4
=z 7 H50 R3C|Im | 6| 2 o7 95 6 | 6
5 v

EIE

E | K2 P = Y= 5 BE

1f | BRI RO TR 6 1 42 "00

o | BmM X & 5 142 "1

3 | =@ BE & 5 1 59 "76

41| A wE =5 5 > 01 ”39

5 | &M i = 6 > 02 "97

6l | =5 B TR 6 > 07 "95




19, WFEEF 5-65%E0D8 1,000m

2EE H17. 1. 15 (F190) 1929W75 1 BA KRR

wle] & = SONE | B |2E| 5 1 L |4IEmN| GaIE
G [WE mA $5NH WSE|EE | 6 | 1 43 " 56| 1 1
7 | Eom |cuss Laoso|iRE | 6 | 1 048 “21| 4 | 4
(|l 2lBE mxm |evsl corzs|E [ 5] 2 20 a8 6 | 12
EEE Ehpn TROPTE | 5 | 1 48 Y 04| 2 >
ey P anes Fa=|EE | 6 Z
gz s <F Ww> |m@EA| 6| 1 48 “11| 3 3
= o8 B= LS0H =<#|/\F | 5| 2 ~ 14 64| 5 8
- T
5| ¥= 0 #OV3|EE | 5| 2 19 “94] 5 | 10
7 [pEs =k BN W |8® | 6| 2 04 “90| 2 6
o | 2 |ms s S7Eld HoED |bEM | 6 | 1 51 “ 04| 1 5
@ o nh<h BEE|EE | 6 | 2 25 ‘86| 6 | 11
B IR =% FOEH FVTIF | AL 5 2 12 "5B5| 3 7
L P P FoRN BRE|\E | 5| 2 15 “ 26| 4 9
"41__\'\‘ ’ ”
- T
WO AR
E ] £ 0 2 wOB | 2 5 BE
1h | NE HEA £ 6 1 43 "56
o | =M@ s ST/ 5 148 "04
3| R 1% BEA 6 148 "11
411 | @R BN I8 6 148 " 21
51 | #WE 7= PR 6 1 51 "94
61t | PUED EK ES 6 2 04 "90




20, ZFDE (PREMULE)

Azscfx H18. 1.

1,500m

14 (520@) 2318M18 Ik &fc (=ZPP)

fH | B K & ISYAYalAN PilE |Z2E| Y A A |FBIBRI|srees| R S
B (LB E=E DRI BL\D |ZPP | 2 2 '54 "04| 5 5
(el EF EaE HUC |/\FPaEs| 1 2 28 "92| 1 1 4 5
1 | BN 2ZF Loz HED [BER| 3 2 41 " 21 3 3
& (S 2= EO0RE Z0 1R | 1 2 740 "27| 2 2
B |ERRK =0 o <O Mg | 1 2 '60 "27| 4 4
| = : ”
=P ”
8 [ BR LETS DO |RFEP | 3 2 25 "70| 2 2 1 5T
iR IB= RU&D EH |TRIP | 1 2 24 "45|( A 1 3 5
o | B NI i HosE NNFE |8aadh | 2 2 27 "e6| 3 3
% |88 BB T FLB |=ZPH3| 3 3 16 "93| 5 5
5|88 WaE ZHLE AR (Mg | 1 2 39 "65| 4 4
il P : ”
=P ”
inyas] | RV
g fi1 K = P B S 5 A4 A RA > =]
111 |fRi B AR 1 2 24 "45| 5=
2 1 [’ IBR AR 3 2 25 "70| 5
3 |sl Z2BF JI\FAS 1 2 28 "92| 5=
4 1 Mg B BaP 2 2 27 "66
511 |58 W& I 1 2 39 "65
61 (B =3 AR 1 2 740 "27




21, BF0D8 (PZREM L) 1,500m
ASSHE H18. 1. 14 (3520@) 294084 &&= (U\FP@)
t | & K = D HYS PilE |Z2E| & A A |[fBIERI|srsen| R~
B h\ER B pEns &0 [BES | 1 2 22 "46| 5 10
AR bHEhn Lk |/\FPEas| 3 2 06 "24| 2 2 1 5%
1 | BIMER HE |®0Ens &OU|ekEa| 1 | 2 722 "72| 6 11
& [ERAK  Bih == KB [BwEsD| A 2 20 "04| 3 8
5 [BR 1% FAZD FDE|REP | 1 2 42 "48| 7 20
| [mE 9s RLs> F&EH |ewmz| - | 2 006 ‘12| A 1 |3 =
®([HE BEX Wz FueE (=ZPg | 2 2 22 "16| 4 9
BiR ’ "
B |Af & TH5 [FDE[FEDP| 3 2 23 "18| 3 12
o [BlE EE NULHIE V3= (R | 1 2 '34 "14| o 18
o | B|BA 8 FLBE LA Emms| - | 2 729 01| 4 13
% | S8 geE NEB5 DSLa|/\PEE| 1 2 11 "64| 1 5 3 5
= [®Bw =5 EnSvE RN |[)\PEs| 3 2 18 "13| 2 7 1 5%
Mz |lum wi HEE <PhEose| 1 | 2 33 “25| 5 | 17
xRN =R TH5 O<E (BEBP | 2 2 34 "40| 7 19
=Py ’ "
B (BXx B= FLEE &LLoc|/\Fas| 1 2 10 "26| 2 4 |3 5
&ttt 1Be OB 2<H |\ Feg| 2 2 15 "90| 3 )
3 | £ (P B= ERFT LoABW |[EED | 1 2 30 "60| 4 14
% |BIR B4 BER WO (R | 1 2 31 "05| 6 16
5 |WKR K¥E DEEE LA [Emra| - 2 09 “59| 1 3 1 =
g zse &h Lz o [Fed| 3| 2 30 “77] 5 | 15
= ’ "
=Py ”
WSIEf
g fi K e P B = el 5 4 A A~ =5
1 i |fRI 198 J\FhiHEs - 2 06 "12| 7
2 i [tk 1 JI\PBiS 3 2 06 "24| 5%
31 WA KE J\FhiHE - 2 09 "59| 5%
4 1 |BR BE J\PBiS 1 2 10 "26| 5%
51 |58 BERS A== 1 2 11 "64| 58
6 il [FRW ==& J\PBiS 3 2 18 "13| 5%




22, WERXINR2000mUL—

=0

e F—AE K B y A4 A BT | HEIER:
=] E&INA Eim Ji% fUEp BX5K B Ar NE X ’ g DQ

1| 9% TEIN Bfe B8 AR Tk R 25 sl B=E 3 45 "49| 2 3
=2 J\FI) N ED B = | B8 BARE| BB FiB 4 21 "39| 3 4
% ST/ ER ERF | R BE mae 8 =Sk 1Eth 3 45 "42] 1 2

i g
=] REIB ™MiE &8 BFR RBRE IR B NE 4 "52 "37| 3 6

2 | 7 |=F-wezrr—+o37| E@ FE B it REA S AN B% 4 26 "57| 2 5
== F—AKUBO . B2 | miE 7E otz B2 IR & 3 43 "63| 1 1

i g

JIBf7

g fi1 F—LB K & 2 GRRAN =

1 ST/ ERM ERF | R B=E mEe BT =S 1Eth 3 45 "42

2 i RN B A AR Tk i 25 B B=X 3 45 "49

3 i J\PI) W BE B 6= | B8 BARE| BB Fit 4 21 "39




/

23. F=DLN

PREZFDE 48
A=sefx H30. 1. 8 (3320) 202983 (REF - REF - 5D

Ya—Fk

fl |22 FT—AL%E K B 5 A4 A [Eliv
; HS (SR T BR RE W DR EREES 2 30 "T2| 1
BS 4 "
HS . a
2 BS 4 "
v
& {7 F—AL% K & A = s
11z (ISR ™ BBR RE WM& R BE 2 '30 "72| F
2 {u
3 fiz

—RBFOH (BREUL) 8B
Az=sciz H28. 1. 11 (8308) 401 7H72 (X - EA - )

#l [2-2 F—AL% K & 5 14 A (v
; HS J\PEER R XS B —H& e B% 4 16 "57| 1
BS ’ a
HS 4 "
2 BS ’ a
(v
g {1 F—ALE K B A =
11z JI\PEEKR R R0k Bl —8 g 8% 4 '16 "57| F
2
3




